5 DETALJINA RJESENJA ZADATAKA IZ UDZBENIKA MATEMATIKA 4 ZA 4. RAZRED GIMNAZ

Zadatak 4.  Provjeri sljedece jednakosti:
1) / 1 — 1 — cos3x
1+cos3x ~ 3sin3x

2) /cos4xsinxdx= —%COSSX—FC;

+C;

3) /(cosx—sinx)deZ X+ % cos2x+ C;
4) /ezs"‘3x‘cos3xdx: %92§”3X+C.

Risenie 1) F(x) = 3sin3x- 35N 3x—(1-cos3x)9cos3x 9sin? 3x+9 cos® 3x—9 cos3x
Jesee - (3sin3x)2 B 9sin23x
9(1 — cos3x) 1 — cos3x 1

- 9(1 — cos? 3x) - (1 — cos3x)(1 + cos3x) ~ 1+cos3x F09;

2) F/(x) = —%50034x(—sinx) = cos*xsinx =f (x);

3) F/(x) = 1+%(—25in2x) = €0S? x48in? x—Sin2x = cos? X— 2 SiNX COSX+
sin?x = (cosx — sinx)2 = f (x);
4) F'(x) = % - €2SN3X. 2. 3. cos3x = 2SN cos3x = f (X).





